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MINATION - 2024
o_srp  ANNUAL EXAMINA

' - 100
Time: 2.30 Hrs. Mathematics Maximum Marks - 1

PART - I (Marks - 14)

Note: Answer ALL the questions: - 14x1=14

1. Theset P={x|xe Z, —I<x< 1} isa

(A) Singleton set (B) Power set (C) Null set (D) Subset
2. If n(A)= 10and n(B) =15, then the minimum and maximum number of elements in 4N Bis
(A) 10,15 (B) 15, 10 (©) 10,0 (D)0, 10 |
3. The length and breadth of a rectangular plot are 5x10° and 4x10* metres respectively. Its area is
(A) 9x10' m? (B) 9x10° m? (©)2%10'0 m? (D) 20x102 pp?
4. If \/9—x=%/¥ then x=_ =~
@1 ®)36 (©) % D) 0

5. Ifx’+ 6x>+kx+ 6 is exactly divisible by (x+2) then k=2

(A) -6 e (©) -8 D) 11
6. If x—2 is afactor of .p(x], then the remainder is

(A) 2 (®B) -2 © p(2) ®@) p(-2)
7. Find the GCD of x*-y* and x? —-ylis |

(A) x*—»* @B -)? © (I+J’)2 (D) (x+ y)4,

8. Ifone angle of a cyclic quadrilateral is 55°, then the opposite angle is

(A) 120° (B) 125 ©5° . (D%
9. The points (~5,2) and (2, -5) licinthe |

(A) Same quadrant * (B) 1l and 1Nl quadrants respectively

(C) T'and IV quadrants respectively (D) IV and 11 quadrants respectively
10.  The point whose ordinate is 4 and which lies on the Y-axis is

(A) (4,0) B)(0, 4) ©) (1, 4) ®) (4,2)
1. If 25in20=/3 than, the value of g is

(8) %0° ®) 30° (©) 45° ©re’
12. The semi-perimeter of a triangle having sides 15 cm, 20 cm ahd 25cm is

(A) 60cm (B) 45 cm ' (©)—30-cm (D) 15 cm
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13. A parncular observation which occurs maximum number of times in a given data is called its
(ArFréquency (B) Range (C) Mode (D) Median.
14. 1 (x+2.4)=(5. »2)then the coordinates (x, y)are
(A)(7.12) (B) (6,3) @r(3.%) (D) (2.1)
PART - I1 (Marks - 20)
Note: Answer any 10 questions. Question Number 28 is compulsory: - 10x2=20
15. Write the set of letters of the following words in Roster form
(1) INDIA (i1) MISSISSIPPI e
16. 1f A={6,7,8,9} and B={8,10,12}, then find A4A B
y ‘ | |2
17. Find any two rational numbers between 3 and =
18, Simplify V63 - 175 +28
19. Evaluate 10°-15° +5°
20, What is the remainder when x*** 42024 is divided by (x=1)
21. Find the value of & for which the system of lincar cquations 8x+3y=9; kc+10y =15 has no
solution. ‘
22. Find the value of x° in the figure
23. Find the coordinates of the point which divides the line segment joining the points (3 5)and
(8 —10)internally in the ratio 3 : 2
24.  Find the centroid of the triangle whose veritices are A(6,-1), B(8, 3) and C(10, -5)
25. Find the value of tan15° tan 75" tan 45 tan 30" tan 60°
26. If the total surface area of a cube is 2400 cm? then, find its lateral surface area,
27. ]y Ua wiek, u;mper;\ture nuf ao certajn place is measured during winter are ag follows
267c, 247¢c, 28%¢, 31°¢, 30°¢, 26%¢, 24 ¢, , Find the mean temperature of the week
28,

When a dice is rolled, find the probability to get the number which is greater than 47
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PART - 1T (Marks - 50)

Note: Answer any 10 questions. Question Number, 42 is compulsory: - 10x5=50

29, Verify 4-(BNC)=(4 ~B)U(A4-C), using Venn diagrams.

30.  In a college; 240 students play cricket, 180 stu&cnts play football, 164 students play hockey, 42
play both cricket and football, 38 play both football and hockey, 40 play both cricket and hockey
and 16 play all the three games. If each student participates in at least one game, then find
(1) the number of students in the college
(i1) the number of students who play only one game.

31.  Arrange in ascending order 32, Ya, 43

32. Represent J93 ona number line,

2 | | 3 |

33. If x"+— =23, then find the value of x+— and x" + 5

x° X X

34. Factories: x*+13x”+32x+20

33. Solve 3x+5y=2land 7x+6y=49by the method of cross multiplication.

36.  Find the length of a chord which is at a distance of 24/11 cm from the centre of a circle of radius
12cm. _ o

37. Show that the following points A(3, 1), B(6, 4)and C(8, 6)lies on a straight line.

38.  Show that (4, 3)is the centre of the circle passing through the points (9,3).(7,-1) and (-1,3).
Also find its radius. : -

39. Iftan4= g, then find all the other trigonometric ratios.

3 .

40. The lengths of sides of a tﬁmgular field are 28 m, 1Sm and 41m. Calculate the area of the field. -
Find the cost of levelling the field at the rate of % 20 per nr”. |

41. The following are the marks scored by the studenfs.in the Summative Assessment exam. Find the
median. )

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Number of Students 2 7 15 10 11 5°
42. In an office, where 42 staff members work, 7 staff members use cars, 20 staff members use two-

wheelers and the remaining 15 staff members use cycles. Find the relative frequencies.
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PART -1V (Marks- 16)
Note: Answer ALL the questions: - 2x8=16

43. (A). Construct the centroid of APOR whose sides are PQ=8 cm, OR=6 cmand RP=7cm.
OR '

(B). Construct the circumcentre of the A4BC with AB=5 cm, Z4= 60%and /B = 80°.
* Also draw the circumcircle and find the circumradius of the AABC.

44, (A). Use graphical method to solve the following system of equations: x+ y=7 ﬁnd x-y=3
| OR

(B). Draw the graph of y=(%]x+3

E A
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